Using ACES, write a response to the following question.

A
[bookmark: _GoBack]The director ___________________________________ has the most creative presentation of William Shakespeare’s Macbeth Act 1 Scene 1. His version is the most creative in terms of __________________________________ because of _____________________________ and _______________________________.
C
One piece of evidence from his video clip that proves this is ___________________________.

E
This evidence proves that __________________________ is the most creative because________________________________.
C
Another piece of evidence that prove that ______________________ ‘s version is most creative is ___________________________________.
E
This evidence proves that he is the most creative because ______________________________.
S
____________________ is the most creative in his direction of Macbeth Act 1 Scene 1 because of ________________________.
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